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NEW QUESTION 1

A company in France uses Amazon Cognito with the Cognito Hosted Ul as an identity broker for sign-in and sign-up processes. The company is marketing an
application and expects that all the application's users will come from France.

When the company launches the application the company's security team observes fraudulent sign-ups for the application. Most of the fraudulent registrations are
from users outside of France.

The security team needs a solution to perform custom validation at sign-up Based on the results of the validation the solution must accept or deny the registration
request.

Which combination of steps will meet these requirements? (Select TWO.)

A. Create a pre sign-up AWS Lambda trigge

B. Associate the Amazon Cognito function with the Amazon Cognito user pool.

C. Use a geographic match rule statement to configure an AWS WAF web AC

D. Associate the web ACL with the Amazon Cognito user pool.

E. Configure an app client for the application's Amazon Cognito user poo

F. Use the app client ID to validate the requests in the hosted UI.

G. Update the application's Amazon Cognito user pool to configure a geographic restriction setting.

H. Use Amazon Cognito to configure a social identity provider (IdP) to validate the requests on the hosted UI.

Answer: B

Explanation:
https://docs.aws.amazon.com/cognito/latest/developerguide/user-pool-lambda-post-authentication.html

NEW QUESTION 2

A company has a relational database workload that runs on Amazon Aurora MySQL. According to new compliance standards the company must rotate all
database credentials every 30 days. The company needs a solution that maximizes security and minimizes development effort.

Which solution will meet these requirements?

. Store the database credentials in AWS Secrets Manage

. Configure automatic credential rotation tor every 30 days.

. Store the database credentials in AWS Systems Manager Parameter Stor

. Create an AWS Lambda function to rotate the credentials every 30 days.

. Store the database credentials in an environment file or in a configuration fil
Modify the credentials every 30 days.

. Store the database credentials in an environment file or in a configuration fil

. Create an AWS Lambda function to rotate the credentials every 30 days.

IOMNMMmMmOoOO >

Answer: A

Explanation:

To rotate database credentials every 30 days, the most secure and efficient solution is to store the database credentials in AWS Secrets Manager and configure
automatic credential rotation for every 30 days. Secrets Manager can handle the rotation of the credentials in both the secret and the database, and it can use
AWS KMS to encrypt the credentials. Option B is incorrect because it requires creating a custom Lambda function to rotate the credentials, which is more effort
than using Secrets Manager. Option C is incorrect because it stores the database credentials in an environment file or a configuration file, which is less secure
than using Secrets Manager. Option D is incorrect because it combines the drawbacks of option B and option C. Verified References:

> https://docs.aws.amazon.com/secretsmanager/latest/userguide/rotating-secrets.html
> https://docs.aws.amazon.com/secretsmanager/latest/userguide/rotate-secrets_turn-on-for-other.html

NEW QUESTION 3

A company stores sensitive documents in Amazon S3 by using server-side encryption with an IAM Key Management Service (IAM KMS) CMK. A new requirement
mandates that the CMK that is used for these documents can be used only for S3 actions.

Which statement should the company add to the key policy to meet this requirement?

A)

B)
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kms:ViaService": "kms., *amazonaws . com”

A. Option A
B. Option B

Answer: A

NEW QUESTION 4

A company is hosting a web application on Amazon EC2 instances behind an Application Load Balancer (ALB). The application has become the target of a DoS
attack. Application logging shows that requests are coming from small number of client IP addresses, but the addresses change regularly.

The company needs to block the malicious traffic with a solution that requires the least amount of ongoing effort.

Which solution meets these requirements?

A. Create an AWS WAF rate-based rule, and attach it to the ALB.

B. Update the security group that is attached to the ALB to block the attacking IP addresses.

C. Update the ALB subnet's network ACL to block the attacking client IP addresses.

D. Create a AWS WAF rate-based rule, and attach it to the security group of the EC2 instances.

Answer: A

NEW QUESTION 5

A Security Architect has been asked to review an existing security architecture and identify why the application servers cannot successfully initiate a connection to
the database servers. The following summary describes the architecture:

* 1 An Application Load Balancer, an internet gateway, and a NAT gateway are configured in the public subnet

* 2. Database, application, and web servers are configured on three different private subnets.

* 3 The VPC has two route tables: one for the public subnet and one for all other subnets The route table for the public subnet has a 0 0 0 0/0 route to the internet
gateway The route table for all other subnets has a 0 0.0.0/0 route to the NAT gateway. All private subnets can route to each other

* 4 Each subnet has a network ACL implemented that limits all inbound and outbound connectivity to only the required ports and protocols

* 5 There are 3 Security Groups (SGs) database application and web Each group limits all inbound and outbound connectivity to the minimum required

Which of the following accurately reflects the access control mechanisms the Architect should verifyl1?

A. Outbound SG configuration on database servers Inbound SG configuration on application servers inbound and outbound network ACL configuration on the
database subnet Inbound and outbound network ACL configuration on the application server subnet

B. Inbound SG configuration on database servers Outbound SG configuration on application serversinbound and outbound network ACL configuration on the
database subnetinbound and outbound network ACL configuration on the application server subnet

C. Inbound and outbound SG configuration on database servers Inbound and outbound SG configuration on application servers Inbound network ACL
configuration on the database subnet Outbound network ACL configuration on the application server subnet

D. Inbound SG configuration on database servers Outbound SG configuration on application servers Inbound network ACL configuration on the database subnet
Outbound network ACL configuration on the application server subnet.

Answer: A

Explanation:

this is the accurate reflection of the access control mechanisms that the Architect should verify. Access control mechanisms are methods that regulate who can
access what resources and how. Security groups and network ACLs are two types of access control mechanisms that can be applied to EC2 instances and
subnets. Security groups are stateful, meaning they remember and return traffic that was previously allowed. Network ACLs are stateless, meaning they do not
remember or return traffic that was previously allowed. Security groups and network ACLs can have inbound and outbound rules that specify the source,
destination, protocol, and port of the traffic. By verifying the outbound security group configuration on database servers, the inbound security group configuration
on application servers, and the inbound and outbound network ACL configuration on both the database and application server subnets, the Architect can check if
there are any misconfigurations or conflicts that prevent the application servers from initiating a connection to the database servers. The other options are either
inaccurate or incomplete for verifying the access control mechanisms.

NEW QUESTION 6

A company uses an Amazon S3 bucket to store reports Management has mandated that all new objects stored in this bucket must be encrypted at rest using
server-side encryption with a client-specified IAM Key Management Service (IAM KMS) CMK owned by the same account as the S3 bucket. The IAM account
number is 111122223333, and the bucket name Is report bucket. The company's security specialist must write the S3 bucket policy to ensure the mandate can be
Implemented

Which statement should the security specialist include in the policy?

A.
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arnrawg:s3srraeportbucket/ v’

E. Option A
F. Option B
G. Option C
H. Option D

Answer: D

NEW QUESTION 7

A company is using an AWS Key Management Service (AWS KMS) AWS owned key in its application to encrypt files in an AWS account The company's security
team wants the ability to change to new key material for new files whenever a potential key breach occurs A security engineer must implement a solution that gives
the security team the ability to change the key whenever the team wants to do so

Which solution will meet these requirements?

A. Create a new customer managed key Add a key rotation schedule to the key Invoke the key rotation schedule every time the security team requests a key
change

B. Create a new AWS managed key Add a key rotation schedule to the key Invoke the key rotation schedule every time the security team requests a key change
C. Create a key alias Create a new customer managed key every time the security team requests a key change Associate the alias with the new key

D. Create a key alias Create a new AWS managed key every time the security team requests a key change Associate the alias with the new key

Answer: A

Explanation:

To meet the requirement of changing the key material for new files whenever a potential key breach occurs, the most appropriate solution would be to create a
new customer managed key, add a key rotation schedule to the key, and invoke the key rotation schedule every time the security team requests a key change.
References: : Rotating AWS KMS keys - AWS Key Management Service

NEW QUESTION 8

A company plans to use AWS Key Management Service (AWS KMS) to implement an encryption strategy to protect data at rest. The company requires client-side
encryption for company projects. The company is currently conducting multiple projects to test the company's use of AWS KMS. These tests have led to a sudden
increase in the company's AWS resource consumption. The test projects include applications that issue multiple requests each second to KMS endpoints for
encryption activities.

The company needs to develop a solution that does not throttle the company's ability to use AWS KMS. The solution must improve key usage for client-side
encryption and must be cost optimized. Which solution will meet these requirements?

A. Use keyrings with the AWS Encryption SD

B. Use each keyring individually or combine keyrings into amulti-keyrin

C. Decrypt the data by using a keyring that has the primary key in the multi-keyring.

D. Use data key cachin

E. Use the local cache that the AWS Encryption SDK provides with a caching cryptographic materials manager.
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F. Use KMS key rotatio

G. Use alocal cache in the AWS Encryption SDK with a caching cryptographic materials manager.
H. Use keyrings with the AWS Encryption SD

I. Use each keyring individually or combine keyrings into a multi-keyrin

J. Use any of the wrapping keys in the multi-keyring to decrypt the data.

Answer: B

Explanation:

The correct answer is B. Use data key caching. Use the local cache that the AWS Encryption SDK provides with a caching cryptographic materials manager.

This answer is correct because data key caching can improve performance, reduce cost, and help the company stay within the service limits of AWS KMS. Data
key caching stores data keys and related cryptographic material in a cache, and reuses them for encryption and decryption operations. This reduces the number of
requests to AWS KMS endpoints and avoids throttling. The AWS Encryption SDK provides a local cache and a caching cryptographic materials manager (caching
CMM) that interacts with the cache and enforces security thresholds that the company can set1.

The other options are incorrect because:

> A. Using keyrings with the AWS Encryption SDK does not address the problem of throttling or cost optimization. Keyrings are used to generate, encrypt, and
decrypt data keys, but they do not cache or reuse them. Using each keyring individually or combining them into a multi-keyring does not reduce the number of
requests to AWS KMS endpoints2.

> C. Using KMS key rotation does not address the problem of throttling or cost optimization. Key rotation is a security practice that creates new cryptographic
material for a KMS key every year, but it does not affect the data that the KMS key protects. Key rotation does not reduce the number of requests to AWS KMS
endpoints, and it might incur additional costs for storing multiple versions of key material3.

> D. Using keyrings with the AWS Encryption SDK does not address the problem of throttling or cost optimization, as explained in option A. Moreover, using any
of the wrapping keys in the multi-keyring to decrypt the data is not a valid option, because only one of the wrapping keys can decrypt a given data key. The
wrapping key that encrypts a data key is stored in the encrypted data key structure, and only that wrapping key can decrypt it4.

References:

1: Data key caching - AWS Encryption SDK 2: Using keyrings - AWS Encryption SDK 3: Rotating AWS KMS keys - AWS Key Management Service 4: How
keyrings work - AWS Encryption SDK

NEW QUESTION 9

A Security Engineer creates an Amazon S3 bucket policy that denies access to all users. A few days later, the Security Engineer adds an additional statement to
the bucket policy to allow read-only access to one other employee. Even after updating the policy, the employee still receives an access denied message.

What is the likely cause of this access denial?

A. The ACL in the bucket needs to be updated

B. The IAM policy does not allow the user to access the bucket
C. It takes a few minutes for a bucket policy to take effect

D. The allow permission is being overridden by the deny

Answer: D

NEW QUESTION 10

A company uses SAML federation to grant users access to AWS accounts. A company workload that is in an isolated AWS account runs on immutable
infrastructure with no human access to Amazon EC2. The company requires a specialized user known as a break glass user to have access to the workload AWS
account and instances in the case of SAML errors. A recent audit discovered that the company did not create the break glass user for the AWS account that
contains the workload.

The company must create the break glass user. The company must log any activities of the break glass user and send the logs to a security team.

Which combination of solutions will meet these requirements? (Select TWO.)

. Create a local individual break glass IAM user for the security tea
. Create a trail in AWS CloudTrail that has Amazon CloudWatch Logs turned o
. Use Amazon EventBridge to monitor local user activities.
. Create a break glass EC2 key pair for the AWS accoun
. Provide the key pair to the security tea
Use AWS CloudTrail to monitor key pair activit
. Send notifications to the security team by using Amazon Simple Notification Service (Amazon SNS).
. Create a break glass IAM role for the accoun
I. Allow security team members to perform the AssumeRoleWithSAML operatio
J. Create an AWS Cloud Trall trail that has Amazon CloudWatch Logs turned o
K. Use Amazon EventBridge to monitor security team activities.
L. Create a local individual break glass IAM user on the operating system level of each workload instance.Configure unrestricted security groups on the instances
to grant access to the break glass IAM users.
M. Configure AWS Systems Manager Session Manager for Amazon EC2. Configure an AWS Cloud Trail filter based on Session Manage
N. Send the results to an Amazon Simple Notification Service (Amazon SNS) topic.

ITOMMmMmOO®>

Answer: AE

Explanation:
The combination of solutions that will meet the requirements are:

> A. Create a local individual break glass IAM user for the security team. Create a trail in AWS CloudTrail that has Amazon CloudWatch Logs turned on. Use
Amazon EventBridge to monitor local user activities. This is a valid solution because it allows the security team to access the workload AWS account and
instances using a local IAM user that does not depend on SAML federation. It also enables logging and monitoring of the break glass user activities using AWS
CloudTrail, Amazon CloudWatch Logs, and Amazon EventBridge123.

> E. Configure AWS Systems Manager Session Manager for Amazon EC2. Configure an AWS CloudTrail filter based on Session Manager. Send the results to
an Amazon Simple Notification Service (Amazon SNS) topic. This is a valid solution because it allows the security team to access the workload instances without
opening any inbound ports or managing SSH keys or bastion hosts. It also enables logging and notification of the break glass user activities using AWS CloudTrail,
Session Manager, and Amazon SNS456.

The other options are incorrect because:

> B. Creating a break glass EC2 key pair for the AWS account and providing it to the security team is not a valid solution, because it requires opening inbound
ports on the instances and managing SSH keys, which increases the security risk and complexity7.
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> C. Creating a break glass 1AM role for the account and allowing security team members to perform the AssumeRoleWithSAML operation is not a valid solution,
because it still depends on SAML federation, which might not work in case of SAML errors8.

> D. Creating a local individual break glass IAM user on the operating system level of each workload instance and configuring unrestricted security groups on the
instances to grant access to the break glass IAM users is not a valid solution, because it requires opening inbound ports on the instances and managing multiple
local users, which increases the security risk and complexity9.

References:

1: Creating an IAM User in Your AWS Account 2: Creating a Trail - AWS CloudTrail 3: Using Amazon EventBridge with AWS CloudTrail 4: Setting up Session
Manager - AWS Systems Manager 5: Logging Session Manager sessions - AWS Systems Manager 6: Amazon Simple Notification Service 7: Connecting to your
Linux instance using SSH - Amazon Elastic Compute Cloud 8: AssumeRoleWithSAML - AWS Security Token Service 9: IAM Users - AWS Identity and Access
Management

NEW QUESTION 10

A development team is attempting to encrypt and decode a secure string parameter from the IAM Systems Manager Parameter Store using an IAM Key
Management Service (IAM KMS) CMK. However, each attempt results in an error message being sent to the development team.

Which CMK-related problems possibly account for the error? (Select two.)

A. The CMK is used in the attempt does not exist.

B. The CMK is used in the attempt needs to be rotated.

C. The CMK is used in the attempt is using the CMK€™s key ID instead of the CMK ARN.
D. The CMK is used in the attempt is not enabled.

E. The CMK is used in the attempt is using an alias.

Answer: AD

Explanation:
https://docs.|IAM.amazon.com/kms/latest/developerguide/services-parameter-store.html#parameter-store-cmk-fa

NEW QUESTION 13

A company's Chief Security Officer has requested that a Security Analyst review and improve the security posture of each company IAM account The Security
Analyst decides to do this by Improving IAM account root user security.

Which actions should the Security Analyst take to meet these requirements? (Select THREE.)

A. Delete the access keys for the account root user in every account.

B. Create an admin IAM user with administrative privileges and delete the account root user in every account.

C. Implement a strong password to help protect account-level access to the IAM Management Console by the account root user.

D. Enable multi-factor authentication (MFA) on every account root user in all accounts.

E. Create a custom IAM policy to limit permissions to required actions for the account root user and attach the policy to the account root user.
F. Attach an IAM role to the account root user to make use of the automated credential rotation in IAM STS.

Answer: ADE

Explanation:

because these are the actions that can improve IAM account root user security. IAM account root user is a user that has complete access to all AWS resources
and services in an account. IAM account root user security is a set of best practices that help protect the account root user from unauthorized or accidental use.
Deleting the access keys for the account root user in every account can help prevent programmatic access by the account root user, which reduces the risk of
compromise or misuse. Enabling MFA on every account root user in all accounts can help add an extra layer of security for console access by requiring a
verification code in addition to a password. Creating a custom IAM policy to limit permissions to required actions for the account root user and attaching the policy
to the account root user can help enforce the principle of least privilege and restrict the account root user from performing unnecessary or dangerous actions. The
other options are either invalid or ineffective for improving IAM account root user security.

NEW QUESTION 15

A security team is developing an application on an Amazon EC2 instance to get objects from an Amazon S3 bucket. All objects in the S3 bucket are encrypted with
an AWS Key Management Service (AWS KMS) customer managed key. All network traffic for requests that are made within the VPC is restricted to the AWS
infrastructure. This traffic does not traverse the public internet.

The security team is unable to get objects from the S3 bucket Which factors could cause this issue? (Select THREE.)

A. The IAM instance profile that is attached to the EC2 instance does not allow the s3 ListBucket action to the S3: bucket in the AWS accounts.
B. The | AM instance profile that is attached to the EC2 instance does not allow the s3 ListParts action to the S3; bucket in the AWS accounts.
C. The KMS key policy that encrypts the object in the S3 bucket does not allow the kms; ListKeys action to the EC2 instance profile ARN.

D. The KMS key policy that encrypts the object in the S3 bucket does not allow the kms Decrypt action to the EC2 instance profile ARN.

E. The security group that is attached to the EC2 instance is missing an outbound rule to the S3 managed prefix list over port 443.

F. The security group that is attached to the EC2 instance is missing an inbound rule from the S3 managed prefix list over port 443.

Answer: ADE

Explanation:
https://docs.aws.amazon.com/vpc/latest/userguide/security-group-rules.htmi
To get objects from an S3 bucket that are encrypted with a KMS customer managed key, the security team needs to have the following factors in place:

> The IAM instance profile that is attached to the EC2 instance must allow the s3:GetObject action to the S3 bucket or object in the AWS account. This
permission is required to read the object from S3. Option A is incorrect because it specifies the s3:ListBucket action, which is only required to list the objects in the
bucket, not to get them.

> The KMS key policy that encrypts the object in the S3 bucket must allow the kms:Decrypt action to the EC2 instance profile ARN. This permission is required to
decrypt the object using the KMS key. Option D is correct.

> The security group that is attached to the EC2 instance must have an outbound rule to the S3 managed prefix list over port 443. This rule is required to allow
HTTPS traffic from the EC2 instance to S3 within the AWS infrastructure. Option E is correct. Option B is incorrect because it specifies the s3:ListParts action,
which is only required for multipart uploads, not for getting objects. Option C is incorrect

because it specifies the kms:ListKeys action, which is not required for getting objects. Option F is incorrect because it specifies an inbound rule from the S3
managed prefix list, which is not required for getting objects. Verified References:
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> https://docs.aws.amazon.com/kms/latest/developerguide/control-access.html
> https://docs.aws.amazon.com/vpc/latest/userguide/vpc-endpoints-s3.html

NEW QUESTION 19

An Incident Response team is investigating an IAM access key leak that resulted in Amazon EC2 instances being launched. The company did not discover the
incident until many months later The Director of Information Security wants to implement new controls that will alert when similar incidents happen in the future
Which controls should the company implement to achieve this? {Select TWO.)

A. Enable VPC Flow Logs in all VPCs Create a scheduled IAM Lambda function that downloads and parses the logs, and sends an Amazon SNS natification for
violations.

B. Use IAM CloudTrail to make a trail, and apply it to all Regions Specify an Amazon S3 bucket to receive all the CloudTrail log files

C. Add the following bucket policy to the company's IAM CloudTrail bucket to prevent log tampering{"Version": "2012-10-17-,"Statement": { "Effect":
"Deny","Action": "s3:PutObject", "Principal": "-","Resource": "arn:|IAM:s3:::cloudtrail/lAMLogs/111122223333/*'}}Create an Amazon S3 data event for an PutObject
attempts, which sends notifications to an Amazon SNS topic.

D. Create a Security Auditor role with permissions to access Amazon CloudWatch Logs m all Regions Ship the logs to an Amazon S3 bucket and make a lifecycle
policy to ship the logs to Amazon S3 Glacier.

E. Verify that Amazon GuardDuty is enabled in all Regions, and create an Amazon CloudWatch Events rule for Amazon GuardDuty findings Add an Amazon SNS
topic as the rule's target

Answer: AE

NEW QUESTION 24

A company is designing a multi-account structure for its development teams. The company is using AWS Organizations and AWS Single Sign-On (AWS SSO).
The company must implement a solution so that the development teams can use only specific AWS Regions and so that each AWS account allows access to only
specific AWS services.

Which solution will meet these requirements with the LEAST operational overhead?

A. Use AWS SSO to set up service-linked roles with IAM policy statements that include the Condition, Resource, and NotAction elements to allow access to only
the Regions and services that are needed.

B. Deactivate AWS Security Token Service (AWS STS) in Regions that the developers are not allowed to use.

C. Create SCPs that include the Condition, Resource, and NotAction elements to allow access to only the Regions and services that are needed.

D. For each AWS account, create tailored identity-based policies for AWS SS

E. Use statements that include the Condition, Resource, and NotAction elements to allow access to only the Regions and services that are needed.

Answer: C

Explanation:
https://docs.aws.amazon.com/organizations/latest/userguide/orgs_manage_policies_scps_syntax.html#scp-eleme

NEW QUESTION 29

A company is building an application on AWS that will store sensitive information. The company has a support team with access to the IT infrastructure, including
databases. The company's security engineer must introduce measures to protect the sensitive data against any data breach while minimizing management
overhead. The credentials must be regularly rotated.

What should the security engineer recommend?

A. Enable Amazon RDS encryption to encrypt the database and snapshot

B. Enable Amazon Elastic Block Store (Amazon EBS) encryption on Amazon EC2 instance

C. Include the database credential in the EC2 user data fiel

D. Use an AWS Lambda function to rotate database credential

E. Set up TLS for the connection to the database.

F. Install a database on an Amazon EC2 instanc

G. Enable third-party disk encryption to encrypt Amazon Elastic Block Store (Amazon EBS) volum
H. Store the database credentials in AWS CloudHSM with automatic rotatio

I. Set up TLS for the connection to the database.

J. Enable Amazon RDS encryption to encrypt the database and snapshot

K. Enable Amazon Elastic Block Store (Amazon EBS) encryption on Amazon EC2 instance

L. Store the database credentials in AWS Secrets Manager with automatic rotatio

M. Set up TLS for the connection to the RDS hosted database.

N. Set up an AWS CloudHSM cluster with AWS Key Management Service (AWS KMS) to store KMS key
O. Set up Amazon RDS encryption using AWS KSM to encrypt the databas

P. Store the database credentials in AWS Systems Manager Parameter Store with automatic rotatio
Q. Set up TLS for the connection to the RDS hosted database.

Answer: C

NEW QUESTION 32

A company has a legacy application that runs on a single Amazon EC2 instance. A security audit shows that the application has been using an IAM access key
within its code to access an Amazon S3 bucket that is named DOC-EXAMPLE-BUCKET1 in the same AWS account. This access key pair has the s3:GetObject
permission to all objects in only this S3 bucket. The company takes the application offline because the application is not compliant with the company’s security
policies for accessing other AWS resources from Amazon EC2.

A security engineer validates that AWS CloudTrail is turned on in all AWS Regions. CloudTrail is sending logs to an S3 bucket that is named DOC-EXAMPLE-
BUCKET2. This S3 bucket is in the same AWS account as DOC-EXAMPLE-BUCKET1. However, CloudTrail has not been configured to send logs to Amazon
CloudWatch Logs.

The company wants to know if any objects in DOC-EXAMPLE-BUCKET1 were accessed with the IAM access key in the past 60 days. If any objects were
accessed, the company wants to know if any of the objects that are text files (.txt extension) contained personally identifiable information (PII).

Which combination of steps should the security engineer take to gather this information? (Choose two.)

A. Configure Amazon Macie to identify any objects in DOC-EXAMPLE-BUCKET1 that contain PIl and that were available to the access key.

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure SCS-C02 dumps!
D CEI"tShEI,I"Ed https://www.certshared.com/exam/SCS-C02/ (235 Q&AS)

B. Use Amazon CloudWatch Logs Insights to identify any objects in DOC-EXAMPLE-BUCKET1 that contain PIl and that were available to the access key.

C. Use Amazon OpenSearch Service (Amazon Elasticsearch Service) to query the CloudTrail logs in DOC-EXAMPLE-BUCKET?2 for API calls that used the access
key to access an object that contained PII.

D. Use Amazon Athena to query the CloudTrail logs in DOC-EXAMPLE-BUCKET?2 for any API calls that used the access key to access an object that contained
PILI.

E. Use AWS Identity and Access Management Access Analyzer to identify any API calls that used the access key to access objects that contained Pl in DOC-
EXAMPLE-BUCKET1.

Answer: AD

NEW QUESTION 33

A company is attempting to conduct forensic analysis on an Amazon EC2 instance, but the company is unable to connect to the instance by using AWS Systems
Manager Session Manager. The company has installed AWS Systems Manager Agent (SSM Agent) on the EC2 instance.

The EC2 instance is in a subnet in a VPC that does not have an internet gateway attached. The company has associated a security group with the EC2 instance.
The security group does not have inbound or outbound rules. The subnet's network ACL allows all inbound and outbound traffic.

Which combination of actions will allow the company to conduct forensic analysis on the EC2 instance without compromising forensic data? (Select THREE.)

A. Update the EC2 instance security group to add a rule that allows outbound traffic on port 443 for 0.0.0.0/0.

B. Update the EC2 instance security group to add a rule that allows inbound traffic on port 443 to the VPC's CIDR range.
C. Create an EC2 key pai

D. Associate the key pair with the EC2 instance.

E. Create a VPC interface endpoint for Systems Manager in the VPC where the EC2 instance is located.

F. Attach a security group to the VPC interface endpoin

G. Allow inbound traffic on port 443 to the VPC's CIDR range.

H. Create a VPC interface endpoint for the EC2 instance in the VPC where the EC2 instance is located.

Answer: BCF

NEW QUESTION 35
Which of the following are valid configurations for using SSL certificates with Amazon CloudFront? (Select THREE )

A. Default AWS Certificate Manager certificate

B. Custom SSL certificate stored in AWS KMS

C. Default CloudFront certificate

D. Custom SSL certificate stored in AWS Certificate Manager
E. Default SSL certificate stored in AWS Secrets Manager

F. Custom SSL certificate stored in AWS IAM

Answer: ABC

Explanation:

The key length for an RSA certificate that you use with CloudFront is 2048 bits, even though ACM supports larger keys. If you use an imported certificate with
CloudFront, your key length must be 1024 or 2048 bits and cannot exceed 2048 bits. You must import the certificate in the US East (N. Virginia) Region. You must
have permission to use and import the SSL/TLS certificate
https://docs.aws.amazon.com/AmazonCloudFront/latest/DeveloperGuide/cnames-and-https-requirements.html

NEW QUESTION 37

A company uses AWS Organizations to manage several AWs accounts. The company processes a large volume of sensitive data. The company uses a serverless
approach to microservices. The company stores all the data in either Amazon S3 or Amazon DynamoDB. The company reads the data by using either AWS
lambda functions or container-based services that the company hosts on Amazon Elastic Kubernetes Service (Amazon EKS) on AWS Fargate.

The company must implement a solution to encrypt all the data at rest and enforce least privilege data access controls. The company creates an AWS Key
Management Service (AWS KMS) customer managed key.

What should the company do next to meet these requirements?

A. Create a key policy that allows the kms:Decrypt action only for Amazon S3 and DynamoD

B. Create an SCP that denies the creation of S3 buckets and DynamoDB tables that are not encrypted with the key.
C. Create an 1AM policy that denies the kms:Decrypt action for the ke

D. Create a Lambda function than runs on a schedule to attach the policy to any new role

E. Create an AWS Config rule to send alerts for resources that are not encrypted with the key.

F. Create a key policy that allows the kms:Decrypt action only for Amazon S3, DynamoDB, Lambda, and Amazon EK
G. Create an SCP that denies the creation of S3 buckets and DynamoDB tables that are not encrypted with the key.
H. Create a key policy that allows the kms:Decrypt action only for Amazon S3, DynamoDB, Lambda, and Amazon EK
I. Create an AWS Config rule to send alerts for resources that are not encrypted with the key.

Answer: B

NEW QUESTION 42

A company uses AWS Organizations to manage a multi-accountAWS environment in a single AWS Region. The organization's management account is named
management-01. The company has turned on AWS Config in all accounts in the organization. The company has designated an account named security-01 as the
delegated administra-tor for AWS Config.

All accounts report the compliance status of each account's rules to the AWS Config delegated administrator account by using an AWS Config aggregator. Each
account administrator can configure and manage the account's own AWS Config rules to handle each account's unique compliance requirements.

A security engineer needs to implement a solution to automatically deploy a set of 10 AWS Config rules to all existing and future AWS accounts in the organiza-
tion. The solution must turn on AWS Config automatically during account crea-tion.

Which combination of steps will meet these requirements? (Select TWO.)

A. Create an AWS CloudFormation template that contains the 1 0 required AVVS Config rule

B. Deploy the template by using CloudFormation StackSets in the security-01 account.
C. Create a conformance pack that contains the 10 required AWS Config rule
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D. Deploy the conformance pack from the security-01 account.
E. Create a conformance pack that contains the 10 required AWS Config rule
F. Deploy the conformance pack from the management-01 account.
G. Create an AWS CloudFormation template that will activate AWS Confi
H. De-ploy the template by using CloudFormation StackSets in the security-01 ac-count.

I. Create an AWS CloudFormation template that will activate AWS Confi
J. De-ploy the template by using CloudFormation StackSets in the management-01 account.

Answer: BE

NEW QUESTION 45
A company created an IAM account for its developers to use for testing and learning purposes Because MM account will be shared among multiple teams of
developers, the company wants to restrict the ability to stop and terminate Amazon EC2 instances so that a team can perform these actions only on the instances

it owns.
Developers were Instructed to tag al their instances with a Team tag key and use the team name in the tag value One of the first teams to use this account is

Business Intelligence A security engineer needs to develop a highly scalable solution for providing developers with access to the appropriate resources within the
account The security engineer has already created individual IAM roles for each team.
Which additional configuration steps should the security engineer take to complete the task?

A. For each team, create an AM policy similar to the one that fellows Populate the ec2: ResourceTag/Team condition key with a proper team name Attach resulting
policies to the corresponding IAM roles.

B. For each team create an IAM policy similar to the one that follows Populate the IAM TagKeys/Team condition key with a proper team nam
C. Attach the resuming policies to the corresponding IAM roles.

D. Tag each IAM role with a Team lag ke
E. and use the team name in the tag valu
F. Create an IAM policy similar to the one that follows, and attach 4 to all the IAM roles used by developers.
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G. Tag each 1AM role with the Team key, and use the team name in the tag valu
H. Create an IAM policy similar to the one that follows, and it to all the IAM roles used by developers.

Answer: A

NEW QUESTION 50

A security engineer is configuring a mechanism to send an alert when three or more failed sign-in attempts to the AWS Management Console occur during a
5-minute period. The security engineer creates a trail in AWS CloudTrail to assist in this work.

Which solution will meet these requirements?

A. In CloudTrail, turn on Insights events on the trai

B. Configure an alarm on the insight with eventName matching ConsoleLogin and errorMessage matching “Failed authentication”. Configure a threshold of 3 and
a period of 5 minutes.

C. Configure CloudTrail to send events to Amazon CloudWatch Log

D. Create a metric filter for the relevant log grou

E. Create a filter pattern with eventName matching ConsoleLogin and errorMessage matching “Failed authentication”. Create a CloudWatch alarm with a
threshold of 3 and a period of 5 minutes.

F. Create an Amazon Athena table from the CloudTrail event

G. Run a query for eventName matching ConsoleLogin and for errorMessage matching “Failed authentication”. Create a notification action from the query to send
an Amazon Simple Notification Service (Amazon SNS) notification when the count equals 3 within a period of 5 minutes.

H. In AWS Identity and Access Management Access Analyzer, create a new analyze

I. Configure the analyzer to send an Amazon Simple Notification Service (Amazon SNS) notification when a failed sign-in event occurs 3 times for any IAM user
within a period of 5 minutes.

Answer: B

Explanation:

The correct answer is B. Configure CloudTrail to send events to Amazon CloudWatch Logs. Create a metric filter for the relevant log group. Create a filter pattern
with eventName matching ConsoleLogin and errorMessage matching “Failed authentication”. Create a CloudWatch alarm with a threshold of 3 and a period of 5
minutes.

This answer is correct because it meets the requirements of sending an alert when three or more failed sign-in attempts to the AWS Management Console occur
during a 5-minute period. By configuring CloudTrail to send events to CloudWatch Logs, the security engineer can create a metric filter that matches the desired
pattern of failed sign-in events. Then, by creating a CloudWatch alarm based on the metric filter, the security engineer can set a threshold of 3 and a period of 5
minutes, and choose an action such as sending an email or an Amazon Simple Notification Service (Amazon SNS) message when the alarm is triggered12.

The other options are incorrect because:

> A. Turning on Insights events on the trail and configuring an alarm on the insight is not a solution, because Insights events are used to analyze unusual activity
in management events, such as spikes in API call volume or error rates. Insights events do not capture failed sign-in attempts to the AWS Management Console3.

> C. Creating an Amazon Athena table from the CloudTrail events and running a query for failed sign-in events is not a solution, because it does not provide a
mechanism to send an alert based on the query results. Amazon Athena is an interactive query service that allows analyzing data in Amazon S3 using standard
SQL, but it does not support creating notifications or alarms from queries4.

> D. Creating an analyzer in AWS Identity and Access Management Access Analyzer and configuring it to send an Amazon SNS notification when a failed sign-in
event occurs 3 times for any IAM user within a period of 5 minutes is not a solution, because IAM Access Analyzer is not a service that monitors

sign-in events, but a service that helps identify resources that are shared with external entities. IAM Access Analyzer does not generate findings for failed sign-in
attempts to the AWS Management Consoleb.

References:

1: Sending CloudTrail Events to CloudWatch Logs - AWS CloudTrail 2: Creating Alarms Based on Metric Filters - Amazon CloudWatch 3: Analyzing unusual
activity in management events - AWS CloudTrail 4: What is Amazon Athena? - Amazon Athena 5: Using AWS Identity and Access Management Access Analyzer -
AWS ldentity and Access Management

NEW QUESTION 52

A security engineer needs to implement a write-once-read-many (WORM) model for data that a company will store in Amazon S3 buckets. The company uses the
S3 Standard storage class for all of its S3 buckets. The security engineer must en-sure that objects cannot be overwritten or deleted by any user, including the
AWS account root user.

Which solution will meet these requirements?
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A. Create new S3 buckets with S3 Object Lock enabled in compliance mod

B. Place objects in the S3 buckets.

C. Use S3 Glacier Vault Lock to attach a Vault Lock policy to new S3 bucket
D. Wait 24 hours to complete the Vault Lock proces

E. Place objects in the S3 buckets.

F. Create new S3 buckets with S3 Object Lock enabled in governance mod

G. Place objects in the S3 buckets.

H. Create new S3 buckets with S3 Object Lock enabled in governance mod

I. Add a legal hold to the S3 bucket

J. Place objects in the S3 buckets.

Answer: A

NEW QUESTION 57
A security engineer is designing an IAM policy to protect AWS API operations. The policy must enforce multi-factor authentication (MFA) for IAM users to access
certain services in the AWS production account. Each session must remain valid for only 2 hours. The current version of the IAM policy is as follows:

i

"Version": "2012-10-17",

"Statement": [{
"Effect": ”El_:'_lg';.‘r“,
"Action": |

"ecZ2:DescribeInstances",

"ecZ:StoplInstances”,

"ecZ:TerminateInstances"
1,

“RESQE::E”: "H-_.'_-II]

}]

Which combination of conditions must the security engineer add to the IAM policy to meet these
requirements? (Select TWO.)

A."Bool " : " aws : Multi FactorAuthPresent": "true" }

B. "B0O01 " : " aws : MultiFactorAuthPresent": "false" }

C. "NumericLessThan" : { " aws : Multi FactorAuthAge" : "7200"}
D. "NumericGreaterThan" : { " aws : MultiFactorAuthAge " : "7200"
E. "NumericLessThan" : { "MaxSessionDuration " : "7200"}

Answer: AC

Explanation:
The correct combination of conditions to add to the IAM policy is A and C. These conditions will ensure that IAM users must use MFA to access certain services in
the AWS production account, and that each session will expire after 2 hours.

> Option A: “Bool” : { “aws:MultiFactorAuthPresent” : “true” } is a valid condition that checks if the principal (the IAM user) has authenticated with MFA before
making the request. This condition will enforce MFA for the IAM users to access the specified services. This condition key is supported by all AWS services that
support IAM policiesl.

> Option B: “Bool” : { “aws:MultiFactorAuthPresent” : “false” } is the opposite of option A. This condition will allow access only if the principal has not
authenticated with MFA, which is not the desired requirement. This condition key is supported by all AWS services that support IAM policies1.

> Option C: “NumericLessThan” : { “aws:MultiFactorAuthAge” : “7200" } is a valid condition that checks if the time since the principal authenticated with MFA is
less than 7200 seconds (2 hours). This condition will enforce the session duration limit for the IAM users. This condition key is supported by all AWS services that
support IAM policiesl.

> Option D: “NumericGreaterThan” : { “aws:MultiFactorAuthAge” : “7200" } is the opposite of option C. This condition will allow access only if the time since the
principal authenticated with MFA is more than 7200 seconds (2 hours), which is not the desired requirement. This condition key is supported by all AWS services
that support IAM policiesl.

> Option E: “NumericLessThan” : { “MaxSessionDuration” : “7200” } is not a valid condition key.
MaxSessionDuration is a property of an IAM role, not a condition key. It specifies the maximum session duration (in seconds) for the role, which can be between
3600 and 43200 seconds (1 to 12 hours). This property can be set when creating or modifying a role, but it cannot be used as a condition in a policy2.

NEW QUESTION 59

Your company is planning on using bastion hosts for administering the servers in IAM. Which of the following is the best description of a bastion host from a
security perspective?

Please select:

A. A Bastion host should be on a private subnet and never a public subnet due to security concerns

B. A Bastion host sits on the outside of an internal network and is used as a gateway into the private network and is considered the critical strong point of the
network

C. Bastion hosts allow users to log in using RDP or SSH and use that session to S5H into internal network to access private subnet resources.

D. A Bastion host should maintain extremely tight security and monitoring as it is available to the public

Answer: C

Explanation:
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A bastion host is a special purpose computer on a network specifically designed and configured to withstand attacks. The computer generally hosts a single
application, for example a proxy server, and all other services are removed or limited to reduce the threat to the computer.

In IAM, A bastion host is kept on a public subnet. Users log on to the bastion host via SSH or RDP and then use that session to manage other hosts in the private
subnets.

Options A and B are invalid because the bastion host needs to sit on the public network. Option D is invalid because bastion hosts are not used for monitoring For
more information on bastion hosts, just browse to the below URL:

https://docsIAM.amazon.com/quickstart/latest/linux-bastion/architecture.htl

The correct answer is: Bastion hosts allow users to log in using RDP or SSH and use that session to SSH into internal network to access private subnet resources.
Submit your Feedback/Queries to our Experts

NEW QUESTION 60

A security team is working on a solution that will use Amazon EventBridge (Amazon CloudWatch Events) to monitor new Amazon S3 objects. The solution will
monitor for public access and for changes to any S3 bucket policy or setting that result in public access. The security team configures EventBridge to watch for
specific API calls that are logged from AWS CloudTrail. EventBridge has an action to send an email notification through Amazon Simple Notification Service
(Amazon SNS) to the security team immediately with details of the API call.

Specifically, the security team wants EventBridge to watch for the s3:PutObjectAcl, s3:DeleteBucketPolicy, and s3:PutBucketPolicy APl invocation logs from
CloudTrail. While developing the solution in a single account, the security team discovers that the s3:PutObjectAcl API call does not invoke an EventBridge event.
However, the s3:DeleteBucketPolicy API call and the s3:PutBucketPolicy API call do invoke an event.

The security team has enabled CloudTrail for AWS management events with a basic configuration in the AWS Region in which EventBridge is being tested.
Verification of the EventBridge event pattern indicates that the pattern is set up correctly. The security team must implement a solution so that the s3:PutObjectAcl
API call will invoke an EventBridge event. The solution must not generate false notifications.

Which solution will meet these requirements?

A. Modify the EventBridge event pattern by selecting Amazon S3. Select All Events as the event type.

B. Modify the EventBridge event pattern by selecting Amazon S3. Select Bucket Level Operations as the event type.
C. Enable CloudTrail Insights to identify unusual API activity.

D. Enable CloudTrail to monitor data events for read and write operations to S3 buckets.

Answer: D

Explanation:

The correct answer is D. Enable CloudTrail to monitor data events for read and write operations to S3 buckets. According to the AWS documentationl, CloudTrail
data events are the resource operations performed on or within a resource. These are also known as data plane operations. Data events are often high-volume
activities. For example, Amazon S3 object-level API activity (such as GetObiject, DeleteObject, and PutObject) is a data event.

By default, trails do not log data events. To record CloudTrail data events, you must explicitly add the

supported resources or resource types for which you want to collect activity. For more information, see Logging data events in the Amazon S3 User Guide2.

In this case, the security team wants EventBridge to watch for the s3:PutObjectAcl API invocation logs from CloudTrail. This API uses the acl subresource to set
the access control list (ACL) permissions for a new or existing object in an S3 bucket3. This is a data event that affects the S3 object resource type. Therefore, the
security team must enable CloudTrail to monitor data events for read and write operations to S3 buckets in order to invoke an EventBridge event for this API call.
The other options are incorrect because:

> A. Modifying the EventBridge event pattern by selecting Amazon S3 and All Events as the event type will not capture the s3:PutObjectAcl API call, because this
is a data event and not a management event. Management events provide information about management operations that are performed on resources in your
AWS account. These are also known as control plane operations4.

> B. Modifying the EventBridge event pattern by selecting Amazon S3 and Bucket Level Operations as the event type will not capture the s3:PutObjectAcl API
call, because this is a data event that affects the S3 object resource type and not the S3 bucket resource type. Bucket level operations are management events
that affect the configuration or metadata of an S3 bucket5.

> C. Enabling CloudTrail Insights to identify unusual API activity will not help the security team monitor new S3 objects or changes to any S3 bucket policy or
setting that result in public access. CloudTrail Insights helps AWS users identify and respond to unusual activity associated with API calls and API error rates by
continuously analyzing CloudTrail management events6. It does not analyze data events or generate EventBridge events.

References:

1: CloudTrail log event reference - AWS CloudTrail 2: Logging data events - AWS CloudTrail 3: PutObjectAcl - Amazon Simple Storage Service 4: [Logging
management events - AWS CloudTrail] 5: [Amazon S3 Event Types - Amazon Simple Storage Service] 6: Logging Insights events for trails - AWS CloudTrail

NEW QUESTION 64
A security engineer needs to build a solution to turn IAM CloudTrail back on in multiple IAM Regions in case it is ever turned off.
What is the MOST efficient way to implement this solution?

A. Use IAM Config with a managed rule to trigger the IAM-EnableCloudTrail remediation.

B. Create an Amazon EventBridge (Amazon CloudWatch Events) event with a cloudtrail.amazonlAM.com event source and a StartLogging event name to trigger
an IAM Lambda function to call the StartLogging API.

C. Create an Amazon CloudWatch alarm with a cloudtrail.amazonlAM.com event source and a StopLogging event name to trigger an IAM Lambda function to call
the StartLogging API.

D. Monitor IAM Trusted Advisor to ensure CloudTrail logging is enabled.

Answer: B

NEW QUESTION 67

A company is implementing a new application in a new IAM account. A VPC and subnets have been created for the application. The application has been peered
to an existing VPC in another account in the same IAM Region for database access. Amazon EC2 instances will regularly be created and terminated in the
application VPC, but only some of them will need access to the databases in the peered VPC over TCP port 1521. A security engineer must ensure that only the
EC2 instances that need access to the databases can access them through the network.

How can the security engineer implement this solution?

A. Create a new security group in the database VPC and create an inbound rule that allows all traffic from the IP address range of the application VP

B. Add a new network ACL rule on the database subnet

C. Configure the rule to TCP port 1521 from the IP address range of the application VP

D. Attach the new security group to the database instances that the application instances need to access.

E. Create a new security group in the application VPC with an inbound rule that allows the IP address range of the database VPC over TCP port 1521. Create a
new security group in the database VPC with an inbound rule that allows the IP address range of the application VPC over port 1521. Attach the new security
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group to the database instances and the application instances that need database access.

F. Create a new security group in the application VPC with no inbound rule

G. Create a new security group in the database VPC with an inbound rule that allows TCP port 1521 from the new application security group in the application VP
H. Attach the application security group to the application instances that need database access, and attach the database security group to the database instances.
I. Create a new security group in the application VPC with an inbound rule that allows the IP address range of the database VPC over TCP port 1521. Add a new
network ACL rule on the database subnet

J. Configure the rule to allow all traffic from the IP address range of the application VP

K. Attach the new security group to the application instances that need database access.

Answer: C

NEW QUESTION 70
A security engineer is troubleshooting an AWS Lambda function that is named MyLambdaFunction. The function is encountering an error when the function
attempts to read the objects in an Amazon S3 bucket that is named DOC-EXAMPLE-BUCKET. The S3 bucket has the following bucket policy:

{
" '_ ffact n . | ._-;. I -t Il
"Principal"™:

"= . S | LL = Pyl ey . ¥ s = ¥
Service 4 l:e..x'.}. dd . dillad LONaw S o GO

Which change should the security engineer make to the policy to ensure that the Lambda function can read the bucket objects?

A. Remove the Condition elemen

B. Change the Principal element to the following:{*"AWS”: “arn "aws" ::: lambda ::: function:MyLambdaFunction”}

C. Change the Action element to the following: " s3:GetObject*"" s3:GetBucket*"

D. Change the Resource element to "arn:aws:s3:::DOC-EXAMPLE-BUCKET/*".

E. Change the Resource element to "arn:aws:lambda:::function:MyLambdaFunction". Change the Principal element to the following:{“Service”:
“s3.amazonaws.com”}

Answer: C

Explanation:

The correct answer is C. Change the Resource element to “arn:aws:s3:::DOC-EXAMPLE-BUCKET/*".

The reason is that the Resource element in the bucket policy specifies which objects in the bucket are affected by the policy. In this case, the policy only applies to
the bucket itself, not the objects inside it. Therefore, the Lambda function cannot access the objects with the s3:GetObject permission. To fix this, the Resource
element should include a wildcard (*) to match all objects in the bucket. This way, the policy grants the Lambda function permission to read any object in the
bucket.

The other options are incorrect for the following reasons:

> A. Removing the Condition element would not help, because it only restricts access based on the source IP address of the request. The Principal element
should not be changed to the Lambda function ARN, because it specifies who is allowed or denied access by the policy. The policy should allow access to any
principal ("*") and rely on IAM roles or policies to control access to the Lambda function.

> B. Changing the Action element to include s3:GetBucket* would not help, because it would grant additional permissions that are not needed by the Lambda
function, such as s3:GetBucketAcl or s3:GetBucketPolicy. The s3:GetObject* permission is sufficient for reading objects in the bucket.

> D. Changing the Resource element to the Lambda function ARN would not make sense, because it would mean that the policy applies to the Lambda function
itself, not the bucket or its objects. The Principal element should not be changed to s3.amazonaws.com, because it would grant access to any AWS service that
uses S3, not just Lambda.

NEW QUESTION 75

A developer is building a serverless application hosted on AWS that uses Amazon Redshift as a data store The application has separate modules for readwrite
and read-only functionality The modules need their own database users for compliance reasons

Which combination of steps should a security engineer implement to grant appropriate access? (Select TWO.)

A. Configure cluster security groups for each application module to control access to database users that are required for read-only and readwrite

B. Configure a VPC endpoint for Amazon Redshift Configure an endpoint policy that maps database users to each application module, and allow access to the
tables that are required for read-only and read/write

C. Configure an 1AM policy for each module Specify the ARN of an Amazon Redshift database user that allows the GetClusterCredentials API call

D. Create local database users for each module

E. Configure an 1AM policy for each module Specify the ARN of an 1AM user that allows the GetClusterCredentials API call

Answer: A

Explanation:

To grant appropriate access to separate modules for read-write and read-only functionality in a serverless

application hosted on AWS that uses Amazon Redshift as a data store, a security engineer should configure cluster security groups for each application module to
control access to database users that are required for read-only and readwrite, and configure an IAM policy for each module specifying the ARN of an IAM user
that allows the GetClusterCredentials API call.
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References: : Amazon Redshift - Amazon Web Services : Amazon Redshift - Amazon Web Services : Identity and Access Management - AWS Management
Console : AWS Identity and Access Management - AWS Management Console

NEW QUESTION 76

A company has a single AWS account and uses an Amazon EC2 instance to test application code. The company recently discovered that the instance was
compromised. The instance was serving up malware. The analysis of the instance showed that the instance was compromised 35 days ago.

A security engineer must implement a continuous monitoring solution that automatically notifies the company’s security team about compromised instances
through an email distribution list for high severity findings. The security engineer must implement the solution as soon as possible.

Which combination of steps should the security engineer take to meet these requirements? (Choose three.)

A. Enable AWS Security Hub in the AWS account.

B. Enable Amazon GuardDuty in the AWS account.

C. Create an Amazon Simple Notification Service (Amazon SNS) topi

D. Subscribe the security team’s email distribution list to the topic.

E. Create an Amazon Simple Queue Service (Amazon SQS) queu

F. Subscribe the security team’s email distribution list to the queue.

G. Create an Amazon EventBridge (Amazon CloudWatch Events) rule for GuardDuty findings of high severit
H. Configure the rule to publish a message to the topic.

I. Create an Amazon EventBridge (Amazon CloudWatch Events) rule for Security Hub findings of high severit
J. Configure the rule to publish a message to the queue.

Answer: BCE

NEW QUESTION 81

A company wants to remove all SSH keys permanently from a specific subset of its Amazon Linux 2 Amazon EC2 instances that are using the same 1AM instance
profile However three individuals who have IAM user accounts will need to access these instances by using an SSH session to perform critical duties

How can a security engineer provide the access to meet these requirements'?

A. Assign an 1AM policy to the instance profile to allow the EC2 instances to be managed by AWS Systems Manager Provide the 1AM user accounts with
permission to use Systems Manager Remove the SSH keys from the EC2 instances Use Systems Manager Inventory to select the EC2 instance and connect
B. Assign an 1AM policy to the 1AM user accounts to provide permission to use AWS Systems Manager Run Command Remove the SSH keys from the EC2
instances Use Run Command to open an SSH connection to the EC2 instance

C. Assign an 1AM policy to the instance profile to allow the EC2 instances to be managed by AWS Systems Manager Provide the 1AM user accounts with
permission to use Systems Manager Remove the SSH keys from the EC2 instances Use Systems Manager Session Manager to select the EC2 instance and
connect

D. Assign an 1AM policy to the 1AM user accounts to provide permission to use the EC2 service in the AWS Management Console Remove the SSH keys from
the EC2 instances Connect to the EC2 instance as the ec2-user through the AWS Management Console's EC2 SSH client method

Answer: C

Explanation:

To provide access to the three individuals who have IAM user accounts to access the Amazon Linux 2 Amazon EC2 instances that are using the same IAM
instance profile, the most appropriate solution would be to assign an IAM policy to the instance profile to allow the EC2 instances to be managed by AWS Systems
Manager, provide the IAM user accounts with permission to use Systems Manager, remove the SSH keys from the EC2 instances, and use Systems Manager
Session Manager to select the EC2 instance and connect.

References: : AWS Systems Manager Session Manager - AWS Systems Manager : AWS Systems Manage AWS Management Console : AWS Ildentity and
Access Management - AWS Management Console : Am Elastic Compute Cloud - Amazon Web Services : Amazon Linux 2 - Amazon Web Services : AWS Syst
Manager - AWS Management Console : AWS Systems Manager - AWS Management Console : AWS Systems Manager - AWS Management Console

NEW QUESTION 83

A company has recently recovered from a security incident that required the restoration of Amazon EC2 instances from snapshots.

After performing a gap analysis of its disaster recovery procedures and backup strategies, the company is concerned that, next time, it will not be able to recover
the EC2 instances if the AWS account was compromised and Amazon EBS snapshots were deleted.

All EBS snapshots are encrypted using an AWS KMS CMK. Which solution would solve this problem?

A. Create a new Amazon S3 bucke

B. Use EBS lifecycle policies to move EBS shapshots to the new S3 bucke

C. Move snapshots to Amazon S3 Glacier using lifecycle policies, and apply Glacier Vault Lock policies to prevent deletion.

D. Use AWS Systems Manager to distribute a configuration that performs local backups of all attached disks to Amazon S3.

E. Create a new AWS account with limited privilege

F. Allow the new account to access the AWS KMS key used to encrypt the EBS snapshots, and copy the encrypted snapshots to the new account on a recurring
basis.

G. Use AWS Backup to copy EBS snapshots to Amazon S3.

Answer: C

Explanation:

This answer is correct because creating a new AWS account with limited privileges would provide an isolated and secure backup destination for the EBS
snapshots. Allowing the new account to access the AWS KMS key used to encrypt the EBS snapshots would enable cross-account snapshot sharing without
requiring re-encryption. Copying the encrypted snapshots to the new account on a recurring basis would ensure that the backups are up-to-date and consistent.

NEW QUESTION 87

A company uses AWS Organizations and has production workloads across multiple AWS accounts. A security engineer needs to design a solution that will
proactively monitor for suspicious behavior across all the accounts that contain production workloads.

The solution must automate remediation of incidents across the production accounts. The solution also must publish a naotification to an Amazon Simple
Notification Service (Amazon SNS) topic when a critical security finding is detected. In addition, the solution must send all security incident logs to a dedicated
account.

Which solution will meet these requirements?
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A. Activate Amazon GuardDuty in each production accoun

B. In a dedicated logging accoun

C. aggregate all GuardDuty logs from each production accoun

D. Remediate incidents by configuring GuardDuty to directly invoke an AWS Lambda functio

E. Configure the Lambda function to also publish notifications to the SNS topic.

F. Activate AWS security Hub in each production accoun

G. In a dedicated logging accoun

H. aggregate all security Hub findings from each production accoun

I. Remediate incidents by ustng AWS Config and AWS Systems Manage

J. Configure Systems Manager to also pub11Sh notifications to the SNS topic.

K. Activate Amazon GuardDuty in each production accoun

L. In a dedicated logging accoun

M. aggregate all GuardDuty logs from each production account Remediate incidents by using Amazon EventBridge to invoke a custom AWS Lambda function from
the GuardDuty finding

N. Configure the Lambda function to also publish notifications to the SNS topic.

O. Activate AWS Security Hub in each production accoun

P. In a dedicated logging accoun

Q. aggregate all Security Hub findings from each production accoun

R. Remediate incidents by using Amazon EventBridge to invoke a custom AWS Lambda function from the Security Hub finding
S. Configure the Lambda function to also publish notifications to the SNS topic.

Answer: D

Explanation:

The correct answer is D.

To design a solution that will proactively monitor for suspicious behavior across all the accounts that contain production workloads, the security engineer needs to
use a service that can aggregate and analyze security findings from multiple sources. AWS Security Hub is a service that provides a comprehensive view of your
security posture across your AWS accounts and enables you to check your environment against security standards and best practices. Security Hub also
integrates with other AWS services, such as Amazon GuardDuty, AWS Config, and AWS Systems Manager, to collect and correlate security findings.

To automate remediation of incidents across the production accounts, the security engineer needs to use a service that can trigger actions based on events.
Amazon EventBridge is a serverless event bus service that allows you to connect your applications with data from a variety of sources. EventBridge can use rules
to match events and route them to targets for processing. You can use EventBridge to invoke a custom AWS Lambda function from the Security Hub findings.
Lambda is a serverless compute service that lets you run code without provisioning or managing servers.

To publish a notification to an Amazon SNS topic when a critical security finding is detected, the security engineer needs to use a service that can send messages
to subscribers. Amazon SNS is a fully managed messaging service that enables you to decouple and scale microservices, distributed systems, and serverless
applications. SNS can deliver messages to a variety of endpoints, such as email, SMS, or HTTP. You can configure the Lambda function to also publish
notifications to the SNS topic.

To send all security incident logs to a dedicated account, the security engineer needs to use a service that can aggregate and store log data from multiple sources.
AWS Security Hub allows you to aggregate security findings from multiple accounts into a single account using the delegated administrator feature. This feature
enables you to designate an AWS account as the administrator for Security Hub in an organization. The administrator account can then view and manage Security
Hub findings from all member accounts.

Therefore, option D is correct because it meets all the requirements of the solution. Option A is incorrect because GuardDuty does not provide a comprehensive
view of your security posture across your AWS accounts. GuardDuty is primarily a threat detection service that monitors for malicious or unauthorized behavior.
Option B is incorrect because Config and Systems Manager are not designed to automate remediation of incidents based on Security Hub findings. Config is a
service that enables you to assess, audit, and evaluate the configurations of your AWS resources, while Systems Manager is a service that allows you to manage

your infrastructure on AWS at scale. Option C is incorrect because GuardDuty does not provide a comprehensive view of your security posture across your AWS
accounts.

References:

> AWS Security Hub

> Amazon EventBridge

> AWS Lambda

> Amazon SNS

> Aggregating Security Hub findings across accounts

NEW QUESTION 92

Within a VPC, a corporation runs an Amazon RDS Multi-AZ DB instance. The database instance is connected to the internet through a NAT gateway via two
subnets.

Additionally, the organization has application servers that are hosted on Amazon EC2 instances and use the RDS database. These EC2 instances have been
deployed onto two more private subnets inside the same VPC. These EC2 instances connect to the internet through a default route via the same NAT gateway.
Each VPC subnet has its own route table.

The organization implemented a new security requirement after a recent security examination. Never allow the database instance to connect to the internet. A
security engineer must perform this update promptly without interfering with the network traffic of the application servers.

How will the security engineer be able to comply with these requirements?

A. Remove the existing NAT gatewa

B. Create a new NAT gateway that only the application server subnets can use.

C. Configure the DB instance€™s inbound network ACL to deny traffic from the security group ID of the NAT gateway.
D. Modify the route tables of the DB instance subnets to remove the default route to the NAT gateway.

E. Configure the route table of the NAT gateway to deny connections to the DB instance subnets.

Answer: C
Explanation:

Each subnet has a route table, so modify the routing associated with DB instance subnets to prevent internet access.

NEW QUESTION 95

A company uses an external identity provider to allow federation into different IAM accounts. A security engineer for the company needs to identify the federated
user that terminated a production Amazon EC2 instance a week ago.
What is the FASTEST way for the security engineer to identify the federated user?
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A. Review the IAM CloudTrail event history logs in an Amazon S3 bucket and look for the Terminatelnstances event to identify the federated user from the role
session name.

B. Filter the IAM CloudTrail event history for the Terminatelnstances event and identify the assumed IAM rol

C. Review the AssumeRoleWithSAML event call in CloudTrail to identify the corresponding username.

D. Search the IAM CloudTrail logs for the Terminatelnstances event and note the event tim

E. Review the IAM Access Advisor tab for all federated role

F. The last accessed time should match the time when the instance was terminated.

G. Use Amazon Athena to run a SQL query on the IAM CloudTrail logs stored in an Amazon S3 bucket and filter on the Terminatelnstances even

H. Identify the corresponding role and run another query to filter the AssumeRoleWithWebldentity event for the user name.

Answer: B

Explanation:

The fastest way to identify the federated user who terminated a production Amazon EC2 instance is to filter the IAM CloudTrail event history for the
Terminatelnstances event and identify the assumed IAM role. Then, review the AssumeRoleWithSAML event call in CloudTrail to identify the corresponding
username. This method does not require any additional tools or queries, and it directly links the IAM role with the federated user.

Option A is incorrect because the role session hame may not be the same as the federated user name, and it may not be unique or descriptive enough to identify
the user.

Option C is incorrect because the IAM Access Advisor tab only shows when a role was last accessed, not by whom or for what purpose. It also does not show the
specific time of access, only the date.

Option D is incorrect because using Amazon Athena to run SQL queries on the IAM CloudTrail logs is not the fastest way to identify the federated user, as it
requires creating a table schema and running multiple queries. It also assumes that the federation is done using web identity providers, not SAML providers, as
indicated by the AssumeRoleWithWebldentity event.

References:

> AWS Identity and Access Management
> Logging AWS STS API Calls with AWS CloudTrail
> [Using Amazon Athena to Query S3 Data for CloudTrail Analysis]

NEW QUESTION 96

A startup company is using a single AWS account that has resources in a single AWS Region. A security engineer configures an AWS Cloud Trall trail in the same
Region to deliver log files to an Amazon S3 bucket by using the AWS CLI.

Because of expansion, the company adds resources in multiple Regions. The secu-rity engineer notices that the logs from the new Regions are not reaching the
S3 bucket.

What should the security engineer do to fix this issue with the LEAST amount of operational overhead?

A. Create a new CloudTrail trai

B. Select the new Regions where the company added resources.

C. Change the S3 bucket to receive notifications to track all actions from all Regions.
D. Create a new CloudTrail trail that applies to all Regions.

E. Change the existing CloudTrail trail so that it applies to all Regions.

Answer: D

Explanation:

The correct answer is D. Change the existing CloudTrail trail so that it applies to all Regions.

According to the AWS documentationl, you can configure CloudTrail to deliver log files from multiple Regions to a single S3 bucket for a single account. To
change an existing single-Region trail to log in all Regions, you must use the AWS CLI and add the --is-multi-region-trail option to the update-trail command?2. This
will ensure that you log global service events and capture all management event activity in your account.

Option A is incorrect because creating a new CloudTrail trail for each Region will incur additional costs and increase operational overhead. Option B is incorrect
because changing the S3 bucket to receive notifications will not affect the delivery of log files from other Regions. Option C is incorrect because creating a new
CloudTrail trail that applies to all Regions will result in duplicate log files for the original Region and also incur additional costs.

NEW QUESTION 101

A security engineer is checking an AWS CloudFormation template for vulnerabilities. The security engineer finds a parameter that has a default value that exposes
an application's API key in plaintext. The parameter is referenced several times throughout the template. The security engineer must replace the

parameter while maintaining the ability to reference the value in the template. Which solution will meet these requirements in the MOST secure way?
{resolve:s3:MyBucketName:MyObjectName}}.

A. Store the API key value as a SecureString parameter in AWS Systems Manager Parameter Stor

B. In the template, replace all references to the value with {{resolve:ssm:MySSMParameterName:I}}.

C. Store the API key value in AWS Secrets Manage

D. In the template, replace all references to the value with { {resolve:secretsmanager:MySecretld:SecretString}}.
E. Store the API key value in Amazon DynamoD

F. In the template, replace all references to the value with{{resolve:dynamodb:MyTableName:MyPrimaryKey}}.
G. Store the API key value in a new Amazon S3 bucke

H. In the template, replace all references to the value with {

Answer: B

Explanation:

The correct answer is B. Store the API key value in AWS Secrets Manager. In the template, replace all references to the value with
{{resolve:secretsmanager:MySecretld:SecretString}}.

This answer is correct because AWS Secrets Manager is a service that helps you protect secrets that are needed to access your applications, services, and IT
resources. You can store and manage secrets such as database credentials, API keys, and other sensitive data in Secrets Manager. You can also use Secrets
Manager to rotate, manage, and retrieve your secrets throughout their lifecyclel. Secrets Manager integrates with AWS CloudFormation, which allows you to
reference secrets from your templates using the

{{resolve:secretsmanager:...}} syntax2. This way, you can avoid exposing your secrets in plaintext and still

use them in your resources.

The other options are incorrect because:
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> A. Storing the API key value as a SecureString parameter in AWS Systems Manager Parameter Store is not a solution, because AWS CloudFormation does
not support references to SecureString parameters. This means that you cannot use the {{resolve:ssm:...}} syntax to retrieve encrypted parameter values from
Parameter Store3. You would have to use a custom resource or a Lambda function to decrypt the parameter value, which adds complexity and overhead to your
template.

> C. Storing the API key value in Amazon DynamoDB is not a solution, because AWS CloudFormation does not support references to DynamoDB items. This
means that you cannot use the

{{resolve:dynamodb:...}} syntax to retrieve item values from DynamoDB tables4. You would have to

use a custom resource or a Lambda function to query the DynamoDB table, which adds complexity and overhead to your template.

> D. Storing the API key value in a new Amazon S3 bucket is not a solution, because AWS CloudFormation does not support references to S3 objects. This
means that you cannot use the

{{resolve:s3:...}} syntax to retrieve object values from S3 buckets5. You would have to use a custom resource or a Lambda function to download the object from S3,
which adds complexity and overhead to your template.

References:

1: What is AWS Secrets Manager? 2: Referencing AWS Secrets Manager secrets from Parameter Store parameters 3: Using dynamic references to specify

template values 4: Amazon DynamoDB 5: Amazon Simple Storage Service (S3)

NEW QUESTION 102
A security engineer is defining the controls required to protect the IAM account root user credentials in an IAM Organizations hierarchy. The controls should also
limit the impact in case these credentials have been compromised.
Which combination of controls should the security engineer propose? (Select THREE.)
A)
Apply the following SCP:

LR T e | LT ] = 7er

B)
Apply the following SCP:

|l[l:1. fort " : LLE e --u'-“

C) Enable multi-factor authentication (MFA) for the root user.

D) Set a strong randomized password and store it in a secure location.

E) Create an access key ID and secret access key, and store them in a secure location.
F) Apply the following permissions boundary to the toot user:
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A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
F. Option F

Answer: ACE

NEW QUESTION 105

icipalAre

L1

A Security Engineer is troubleshooting an issue with a company's custom logging application. The application logs are written to an Amazon S3 bucket with event

notifications enabled to send events lo an Amazon SNS topic. All logs are encrypted at rest using an IAM KMS CMK. The SNS topic is subscribed to an encrypted
Amazon SQS queue. The logging application polls the queue for new messages that contain metadata about the S3 object. The application then reads the content
of the object from the S3 bucket for indexing.
The Logging team reported that Amazon CloudWatch metrics for the number of messages sent or received is showing zero. No togs are being received.
What should the Security Engineer do to troubleshoot this issue?

A) Add the following statement to the IAM managed CMKs:

B)

Add the following statement to the CMK key policy:

rl.,:_jll: ":"---“.

C Tl ol " myp 1
r gl T - b iy

=l LT L f Sl .l

C).

N o e R = - b il e~ - - -
Amazon SNS To use this

Add the following statement to the CMK key policy:
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 108

A company is running an application in The eu-west-1 Region. The application uses an IAM Key Management Service (IAM KMS) CMK to encrypt sensitive data.
The company plans to deploy the application in the eu-north-1 Region.

A security engineer needs to implement a key management solution for the application deployment in the new Region. The security engineer must minimize
changes to the application code.

Which change should the security engineer make to the IAM KMS configuration to meet these requirements?

A. Update the key policies in eu-west-1. Point the application in eu-north-1 to use the same CMK as the application in eu-west-1.
B. Allocate a new CMK to eu-north-1 to be used by the application that is deployed in that Region.

C. Allocate a new CMK to eu-north-1. Create the same alias name for both key

D. Configure the application deployment to use the key alias.

E. Allocate a new CMK to eu-north-1. Create an alias for eu-'-1. Change the application code to point to the alias for eu-'-1.

Answer: B

NEW QUESTION 112

A company needs a security engineer to implement a scalable solution for multi-account authentication and authorization. The solution should not introduce
additional user-managed architectural components. Native IAM features should be used as much as possible The security engineer has set up 1AM Organizations
wlth all features activated and IAM SSO enabled.

Which additional steps should the security engineer take to complete the task?

A. Use AD Connector to create users and groups for all employees that require access to IAM accounts.Assign AD Connector groups to IAM accounts and link to
the IAM roles in accordance with the employees'job functions and access requirements Instruct employees to access IAM accounts by using the IAM Directory
Service user portal.

B. Use an IAM SSO default directory to create users and groups for all employees that require access to IAM account

C. Assign groups to IAM accounts and link to permission sets in accordance with the employees‘job functions and access requirement

D. Instruct employees to access IAM accounts by using the IAM SSO user portal.

E. Use an IAM SSO default directory to create users and groups for all employees that require access to IAM account

F. Link IAM SSO groups to the 1AM users present in all accounts to inherit existing permission

G. Instruct employees to access IAM accounts by using the IAM SSO user portal.

H. Use IAM Directory Service tor Microsoft Active Directory to create users and groups for all employees that require access to IAM accounts Enable IAM
Management Console access in the created directory and specify IAM SSO as a source cl information tor integrated accounts and permission set

I. Instruct employees to access IAM accounts by using the IAM Directory Service user portal.

Answer: B

NEW QUESTION 115

A Systems Engineer is troubleshooting the connectivity of a test environment that includes a virtual security appliance deployed inline. In addition to using the
virtual security appliance, the Development team wants to use security groups and network ACLs to accomplish various security requirements in the environment.

What configuration is necessary to allow the virtual security appliance to route the traffic?

A. Disable network ACLs.
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B. Configure the security appliance's elastic network interface for promiscuous mode.
C. Disable the Network Source/Destination check on the security appliance's elastic network interface
D. Place the security appliance in the public subnet with the internet gateway

Answer: C

Explanation:

https://docs.aws.amazon.com/AWSEC?2/latest/UserGuide/using-eni.html#eni-basics Source/destination checking "You must disable source/destination checks if
the instance runs services such as network address translation, routing, or firewalls."

The correct answer is C. Disable the Network Source/Destination check on the security appliance’s elastic network interface.

This answer is correct because disabling the Network Source/Destination check allows the virtual security appliance to route traffic that is not addressed to or from
itself. By default, this check is enabled on all EC2 instances, and it prevents them from forwarding traffic that does not match their own IP or MAC addresses.
However, for a virtual security appliance that acts as a router or a firewall, this check needs to be disabled, otherwise it will drop the traffic that it is supposed to
routel2.

The other options are incorrect because:

> A. Disabling network ACLs is not a solution, because network ACLs are optional layers of security for the subnets in a VPC. They can be used to allow or deny
traffic based on IP addresses and ports, but they do not affect the routing behavior of the virtual security appliance3.

> B. Configuring the security appliance’s elastic network interface for promiscuous mode is not a solution, because promiscuous mode is a mode for a network
interface that causes it to pass all traffic it receives to the CPU, rather than passing only the frames that it is programmed to receive. Promiscuous mode is
normally used for packet sniffing or monitoring, but it does not enable the network interface to route traffic4.

> D. Placing the security appliance in the public subnet with the internet gateway is not a solution, because it does not address the routing issue of the virtual
security appliance. The security appliance can be placed in either a public or a private subnet, depending on the network design and security requirements, but it
still needs to have the Network Source/Destination check disabled to route traffic properly5.

References:

1: Enabling or disabling source/destination checks - Amazon Elastic Compute Cloud 2: Virtual security appliance - Wikipedia 3: Network ACLs - Amazon Virtual
Private Cloud 4: Promiscuous mode - Wikipedia 5: NAT instances - Amazon Virtual Private Cloud

NEW QUESTION 119

A company's security engineer is developing an incident response plan to detect suspicious activity in an AWS account for VPC hosted resources. The security
engineer needs to provide visibility for as many AWS Regions as possible.

Which combination of steps will meet these requirements MOST cost-effectively? (Select TWO.)

A. Turn on VPC Flow Logs for all VPCs in the account.

B. Activate Amazon GuardDuty across all AWS Regions.

C. Activate Amazon Detective across all AWS Regions.

D. Create an Amazon Simple Notification Service (Amazon SNS) topi

E. Create an Amazon EventBridge rule that responds to findings and publishes the find-ings to the SNS topic.

F. Create an AWS Lambda functio

G. Create an Amazon EventBridge rule that in-vokes the Lambda function to publish findings to Amazon Simple Email Ser-vice (Amazon SES).

Answer: BD

Explanation:

To detect suspicious activity in an AWS account for VPC hosted resources, the security engineer needs to use a service that can monitor network traffic and API
calls across all AWS Regions. Amazon GuardDuty is a threat detection service that can do this by analyzing VPC Flow Logs, AWS CloudTrail event logs, and DNS
logs. By activating GuardDuty across all AWS Regions, the security engineer can provide visibility for as many regions as possible. GuardDuty generates findings
that contain details about the potential threats detected in the account. To respond to these findings, the security engineer needs to create a mechanism that can
notify the relevant stakeholders or take remedial actions. One way to do this is to use Amazon EventBridge, which is a serverless event bus service that can
connect AWS services and third-party applications. By creating an EventBridge rule that responds to GuardDuty findings and publishes them to an Amazon Simple
Notification Service (Amazon SNS) topic, the security engineer can enable subscribers of the topic to receive notifications via email, SMS, or other methods. This
is a cost-effective solution that does not require any additional infrastructure or code.

NEW QUESTION 122

A business requires a forensic logging solution for hundreds of Docker-based apps running on Amazon EC2. The solution must analyze logs in real time, provide
message replay, and persist logs.

Which Amazon Web Offerings (IAM) services should be employed to satisfy these requirements? (Select two.)

A. Amazon Athena

B. Amazon Kinesis

C. Amazon SQS

D. Amazon Elasticsearch
E. Amazon EMR

Answer: BD

NEW QUESTION 127
What are the MOST secure ways to protect the AWS account root user of a recently opened AWS account? (Select TWO.)

A. Use the AWS account root user access keys instead of the AWS Management Console.

B. Enable multi-factor authentication for the AWS IAM users with the Adminis-tratorAccess managed policy attached to them.
C. Enable multi-factor authentication for the AWS account root user.

D. Use AWS KMS to encrypt all AWS account root user and AWS IAM access keys and set automatic rotation to 30 days.

E. Do not create access keys for the AWS account root user; instead, create AWS IAM users.

Answer: CE

NEW QUESTION 131
A company'’s public Application Load Balancer (ALB) recently experienced a DDoS attack. To mitigate this issue. the company deployed Amazon CloudFront in
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front of the ALB so that users would not directly access the Amazon EC2 instances behind the ALB.
The company discovers that some traffic is still coming directly into the ALB and is still being handled by the EC2 instances.
Which combination of steps should the company take to ensure that the EC2 instances will receive traffic only from CloudFront? (Choose two.)

A. Configure CloudFront to add a cache key policy to allow a custom HTTP header that CloudFront sends to the ALB.

B. Configure CloudFront to add a custom: HTTP header to requests that CloudFront sends to the ALB.

C. Configure the ALB to forward only requests that contain the custom HTTP header.

D. Configure the ALB and CloudFront to use the X-Forwarded-For header to check client IP addresses.

E. Configure the ALB and CloudFront to use the same X.509 certificate that is generated by AWS Certificate Manager (ACM).

Answer: BC

Explanation:

To prevent users from directly accessing an Application Load Balancer and allow access only through CloudFront, complete these high-level steps: Configure
CloudFront to add a custom HTTP header to requests that it sends to the Application Load Balancer. Configure the Application Load Balancer to only forward
requests that contain the custom HTTP header. (Optional) Require HTTPS to improve the security of this solution.
https://docs.aws.amazon.com/AmazonCloudFront/latest/DeveloperGuide/restrict-access-to-load-balancer.htmi

NEW QUESTION 135

The Security Engineer is managing a traditional three-tier web application that is running on Amazon EC2 instances. The application has become the target of
increasing numbers of malicious attacks from the Internet.

What steps should the Security Engineer take to check for known vulnerabilities and limit the attack surface? (Choose two.)

A. Use AWS Certificate Manager to encrypt all traffic between the client and application servers.

B. Review the application security groups to ensure that only the necessary ports are open.

C. Use Elastic Load Balancing to offload Secure Sockets Layer encryption.

D. Use Amazon Inspector to periodically scan the backend instances.

E. Use AWS Key Management Services to encrypt all the traffic between the client and application servers.

Answer: BD

Explanation:
The steps that the Security Engineer should take to check for known vulnerabilities and limit the attack surface are:

> B. Review the application security groups to ensure that only the necessary ports are open. This is a good practice to reduce the exposure of the EC2
instances to potential attacks from the Internet. Application security groups are a feature of Azure that allow you to group virtual machines and define network
security policies based on those groups1.

> D. Use Amazon Inspector to periodically scan the backend instances. This is a service that helps you to identify vulnerabilities and exposures in your EC2
instances and applications. Amazon Inspector can perform automated security assessments based on predefined or custom rules packages?2.

NEW QUESTION 139

A company has hundreds of AWS accounts in an organization in AWS Organizations. The company operates out of a single AWS Region. The company has a
dedicated security tooling AWS account in the organization. The security tooling account is configured as the organization's delegated administrator for Amazon
GuardDuty and AWS Security Hub. The company has configured the environment to automatically enable GuardDuty and Security Hub for existing AWS accounts
and new AWS accounts.

The company is performing control tests on specific GuardDuty findings to make sure that the company's security team can detect and respond to security events.
The security team launched an Amazon EC2 instance and attempted to run DNS requests against a test domain, example.com, to generate a DNS finding.
However, the GuardDuty finding was never created in the Security Hub delegated administrator account.

Why was the finding was not created in the Security Hub delegated administrator account?

A. VPC flow logs were not turned on for the VPC where the EC2 instance was launched.

B. The VPC where the EC2 instance was launched had the DHCP option configured for a custom OpenDNS resolver.

C. The GuardDuty integration with Security Hub was never activated in the AWS account where the finding was generated.
D. Cross-Region aggregation in Security Hub was not configured.

Answer: C

Explanation:

The correct answer is C. The GuardDuty integration with Security Hub was never activated in the AWS account where the finding was generated.

According to the AWS documentation1, GuardDuty findings are automatically sent to Security Hub only if the GuardDuty integration with Security Hub is enabled in
the same account and Region. This means that the security tooling account, which is the delegated administrator for both GuardDuty and Security Hub, must
enable the GuardDuty integration with Security Hub in each member account and Region where GuardDuty is enabled. Otherwise, the findings from GuardDuty
will not be visible in Security Hub.

The other options are incorrect because:

> VPC flow logs are not required for GuardDuty to generate DNS findings. GuardDuty uses VPC DNS logs, which are automatically enabled for all VPCs, to
detect malicious or unauthorized DNS activity.

> The DHCP option configured for a custom OpenDNS resolver does not affect GuardDuty’s ability to generate DNS findings. GuardDuty uses its own threat
intelligence sources to identify malicious domains, regardless of the DNS resolver used by the EC2 instance.

> Cross-Region aggregation in Security Hub is not relevant for this scenario, because the company operates out of a single AWS Region. Cross-Region
aggregation allows Security Hub to aggregate findings from multiple Regions into a single Region.

References:

1: Managing GuardDuty accounts with AWS Organizations : Amazon GuardDuty Findings : How Amazon GuardDuty Works : Cross-Region aggregation in AWS
Security Hub

NEW QUESTION 143

A company's Security Team received an email notification from the Amazon EC2 Abuse team that one or more of the company's Amazon EC2 instances may have
been compromised

Which combination of actions should the Security team take to respond to (be current modem? (Select TWO.)

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure SCS-C02 dumps!
D CEI"tShEI,I"Ed https://www.certshared.com/exam/SCS-C02/ (235 Q&AS)

A. Open a support case with the IAM Security team and ask them to remove the malicious code from the affected instance

B. Respond to the notification and list the actions that have been taken to address the incident

C. Delete all IAM users and resources in the account

D. Detach the internet gateway from the VPC remove aft rules that contain 0.0.0.0V0 from the security groups, and create a NACL rule to deny all traffic Inbound
from the internet

E. Delete the identified compromised instances and delete any associated resources that the Security team did not create.

Answer: DE

Explanation:

these are the recommended actions to take when you receive an abuse notice from AWSS8. You should review the abuse notice to see what content or activity was
reported and detach the internet gateway from the VPC to isolate the affected instances from the internet. You should also remove any rules that allow inbound
traffic from 0.0.0.0/0 from the security groups and create a network access control list (NACL) rule to deny all traffic inbound from the internet. You should then
delete the compromised instances and any associated resources

that you did not create. The other options are either inappropriate or unnecessary for responding to the abuse notice.

NEW QUESTION 144

During a manual review of system logs from an Amazon Linux EC2 instance, a Security Engineer noticed that there are sudo commands that were never properly
alerted or reported on the Amazon CloudWatch Logs agent

Why were there no alerts on the sudo commands?

A. There is a security group blocking outbound port 80 traffic that is preventing the agent from sending the logs

B. The IAM instance profile on the EC2 instance was not properly configured to allow the CloudWatchLogs agent to push the logs to CloudWatch
C. CloudWatch Logs status is set to ON versus SECURE, which prevents it from pulling in OS security event logs

D. The VPC requires that all traffic go through a proxy, and the CloudWatch Logs agent does not support a proxy configuration.

Answer: B

Explanation:

the reason why there were no alerts on the sudo commands. Sudo commands are commands that allow a user to execute commands as another user, usually the
superuser or root. CloudWatch Logs agent is a software agent that can send log data from an EC2 instance to CloudWatch Logs, a service that monitors and
stores log data. The CloudWatch Logs agent needs an IAM instance profile, which is a container for an 1AM role that allows applications running on an EC2
instance to make API requests to AWS services. If the IAM instance profile on the EC2 instance was not properly configured to allow the CloudWatch Logs agent
to push the logs to CloudWatch, then there would be no alerts on the sudo commands. The other options are either irrelevant or invalid for explaining why there
were no alerts on the sudo commands.

NEW QUESTION 148

A company uses AWS Organizations. The company wants to implement short-term cre-dentials for third-party AWS accounts to use to access accounts within the
com-pany's organization. Access is for the AWS Management Console and third-party software-as-a-service (SaaS) applications. Trust must be enhanced to
prevent two external accounts from using the same credentials. The solution must require the least possible operational effort.

Which solution will meet these requirements?

A. Use a bearer token authentication with OAuth or SAML to manage and share a central Amazon Cognito user pool across multiple Amazon AP| Gateway APIs.
B. Implement AWS IAM Identity Center (AWS Single Sign-On), and use an identi-ty source of choice.Grant access to users and groups from other accounts by
using permission sets that are assigned by account.

C. Create a unique IAM role for each external accoun

D. Create a trust polic

E. Use AWS Secrets Manager to create a random external key.

F. Create a unique IAM role for each external accoun

G. Create a trust policy that includes a condition that uses the sts:Externalld condition key.

Answer: D

Explanation:

The correct answer is D.

To implement short-term credentials for third-party AWS accounts, you can use IAM roles and trust policies. A trust policy is a JSON policy document that defines
who can assume the role. You can specify the AWS account ID of the third-party account as a principal in the trust policy, and use the sts:Externalld condition key
to enhance the security of the role. The sts:Externalld condition key is a unique identifier that is agreed upon by both parties and included in the AssumeRole
request. This way, you can prevent the “confused deputy” problem, where an unauthorized party can use the same role as a legitimate party.

Option A is incorrect because bearer token authentication with OAuth or SAML is not suitable for granting access to AWS accounts and resources. Amazon
Cognito and API Gateway are used for building web and mobile applications that require user authentication and authorization.

Option B is incorrect because AWS IAM Identity Center (AWS Single Sign-On) is a service that simplifies the management of access to multiple AWS accounts
and cloud applications for your workforce users. It does not support granting access to third-party AWS accounts.

Option C is incorrect because using AWS Secrets Manager to create a random external key is not necessary and adds operational complexity. You can use the
sts:Externalld condition key instead to provide a unique identifier for each external account.

NEW QUESTION 150

A company is using Amazon Route 53 Resolver for its hybrid DNS infrastructure. The company has set up Route 53 Resolver forwarding rules for authoritative
domains that are hosted on on-premises DNS servers.

A new security mandate requires the company to implement a solution to log and query DNS traffic that goes to the on-premises DNS servers. The logs must show
details of the source IP address of the instance from which the query originated. The logs also must show the DNS name that was requested in Route 53 Resolver.
Which solution will meet these requirements?

A. Use VPC Traffic Mirrorin

B. Configure all relevant elastic network interfaces as the traffic source, include amazon-dns in the mirror filter, and set Amazon CloudWatch Logs as the mirror
targe

C. Use CloudWatch Insights on the mirror session logs to run queries on the source IP address and DNS name.

D. Configure VPC flow logs on all relevant VPC

E. Send the logs to an Amazon S3 bucke

F. Use Amazon Athena to run SQL queries on the source IP address and DNS name.
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G. Configure Route 53 Resolver query logging on all relevant VPC

H. Send the logs to Amazon CloudWatch Log

I. Use CloudWatch Insights to run queries on the source IP address and DNS name.

J. Modify the Route 53 Resolver rules on the authoritative domains that forward to the on-premises DNS server
K. Send the logs to an Amazon S3 bucke

L. Use Amazon Athena to run SQL queries on the source IP address and DNS name.

Answer: C

Explanation:

The correct answer is C. Configure Route 53 Resolver query logging on all relevant VPCs. Send the logs to Amazon CloudWatch Logs. Use CloudWatch Insights
to run queries on the source IP address and DNS name.

According to the AWS documentationl, Route 53 Resolver query logging lets you log the DNS queries that Route 53 Resolver handles for your VPCs. You can
send the logs to CloudWatch Logs, Amazon S3, or Kinesis Data Firehose. The logs include information such as the following:

> The AWS Region where the VPC was created

> The ID of the VPC that the query originated from

> The IP address of the instance that the query originated from
> The instance ID of the resource that the query originated from
> The date and time that the query was first made

> The DNS name requested (such as prod.example.com)

> The DNS record type (such as A or AAAA)

> The DNS response code, such as NoError or ServFalil

> The DNS response data, such as the IP address that is returned in response to the DNS query

You can use CloudWatch Insights to run queries on your log data and analyze the results using graphs and statistics2. You can filter and aggregate the log data
based on any field, and use operators and functions to perform calculations and transformations. For example, you can use CloudWatch Insights to find out how
many queries were made for a specific domain name, or which instances made the most queries.

Therefore, this solution meets the requirements of logging and querying DNS traffic that goes to the

on-premises DNS servers, showing details of the source IP address of the instance from which the query originated, and the DNS name that was requested in
Route 53 Resolver.

The other options are incorrect because:

> A. Using VPC Traffic Mirroring would not capture the DNS queries that go to the on-premises DNS servers, because Traffic Mirroring only copies network traffic
from an elastic network interface of an EC2 instance to a target for analysis3. Traffic Mirroring does not include traffic that goes through a Route 53 Resolver
outbound endpoint, which is used to forward queries to on-premises DNS servers4. Therefore, this solution would not meet the requirements.

> B. Configuring VPC flow logs on all relevant VPCs would not capture the DNS name that was requested in Route 53 Resolver, because flow logs only record
information about the IP traffic going to and from network interfaces in a VPC5. Flow logs do not include any information about the content or payload of a packet,
such as a DNS query or response. Therefore, this solution would not meet the requirements.

> D. Modifying the Route 53 Resolver rules on the authoritative domains that forward to the on-premises DNS servers would not enable logging of DNS queries,
because Resolver rules only specify how to forward queries for specified domain names to your network6. Resolver rules do not have any logging

functionality by themselves. Therefore, this solution would not meet the requirements. References:

1: Resolver query logging - Amazon Route 53 2: Analyzing log data with CloudWatch Logs Insights - Amazon CloudWatch 3: What is Traffic Mirroring? - Amazon
Virtual Private Cloud 4: Outbound Resolver endpoints - Amazon Route 53 5: Logging IP traffic using VPC Flow Logs - Amazon Virtual Private Cloud 6: Managing
forwarding rules - Amazon Route 53

NEW QUESTION 153

There is a requirement for a company to transfer large amounts of data between IAM and an on-premise location. There is an additional requirement for low
latency and high consistency traffic to IAM. Given these requirements how would you design a hybrid architecture? Choose the correct answer from the options
below

Please select:

A. Provision a Direct Connect connection to an IAM region using a Direct Connect partner.

B. Create a VPN tunnel for private connectivity, which increases network consistency and reduces latency.
C. Create an iPSec tunnel for private connectivity, which increases network consistency and reduces latency.
D. Create a VPC peering connection between IAM and the Customer gateway.

Answer: A

Explanation:

IAM Direct Connect makes it easy to establish a dedicated network connection from your premises to IAM. Using IAM Direct Connect you can establish private
connectivity between IAM and your datacenter, office, or colocation environment which in many cases can reduce your network costs, increase bandwidth
throughput and provide a more consistent network experience than Internet-based connections.

Options B and C are invalid because these options will not reduce network latency Options D is invalid because this is only used to connect 2 VPC's

For more information on IAM direct connect, just browse to the below URL: https://IAM.amazon.com/directconnect

The correct answer is: Provision a Direct Connect connection to an IAM region using a Direct Connect partner. omit your Feedback/Queries to our Experts

NEW QUESTION 156

A security engineer needs to configure an Amazon S3 bucket policy to restrict access to an S3 bucket that is named DOC-EXAMPLE-BUCKET. The policy must
allow access to only DOC-EXAMPLE-BUCKET from only the following endpoint: vpce-1a2b3c4d. The policy must deny all access to DOC-EXAMPLE-BUCKET if
the specified endpoint is not used.

Which bucket policy statement meets these requirements?

A. A computer code with black text Description automatically generated
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"Statement": [

{

"sid": "nccess-to-specific-VPCE-only",
"Principal"™: "*",
“Retion™: "adowr,
PETTfect: "Allow"™;
"Resource": ["arn:aws:s3:::DOC-EXAMPLE-BUCEET",
"arn:aws:s3:::DOC-EXAMPLE-BUCKET/*"],

"Condition"™: {

"StringNotEquals™: {

"aws:sourceVpce": "vpce—-lazb3cdd"
}
}
}
]
B. A computer code with black text Description automatically generated wat o+ amant - [
{
"sid": "Access-to-specific-VPCE-only",
"Principal"™: "=*",
"action": "s3:iEvw,
"Effect™: "Deny",
"Resource": ["arn:aws:s3:::DOC-EXAMPLE-BUCKET",
"arn:aws:s3:::DOC-EXAMPLE-BUCKET/*"],
"Condition": {
"StringNotEquals™: {
"aws:sourceVpce": "vpce-laZb3cdd"
1
}
1

C. A computer code with black text Description automatically generated
"Statement": [

{
"5id": "hAccess-to-specific-VPCE-only",
"Principal®™; Ee.
"Action"™: "s3:*",
"Effect": "Deny",
"Resource": ["arn:aws:s3:::DOC-EXAMPLE-BUCKET",
"arn:aws:s3:::DOC-EXBEMPLE-BUCKET/*"],
"Condition": {
"StringEquals": {
"aws:sourceVpece": "vpce-laZb3cdd"
;
}
}
]
D. A computer code with black text Description automatically generated ———
Statement": [
{
"sid": "Access-to-specific-VPCE-only",
"Principal®™: meM.
"action™: "s3:*",
"Effect”: "Allow",
"Resource": ["arn:aws:s3:::DOC-EXAMPLE-BUCEKEET",
"arn:aws:s3:::DOC-EXAMPLE-BUCKET/*"],
"Condition™: {
"StringEquals": {
"aws:sourceVpce": "vpce—laZb3c4d"
t
}
I

Answer: B

Explanation:
https://docs.aws.amazon.com/AmazonS3/latest/userguide/example-bucket-policies-vpc-endpoint.html

NEW QUESTION 161

A company has enabled Amazon GuardDuty in all AWS Regions as part of its security monitoring strategy. In one of its VPCs, the company hosts an Amazon EC2
instance that works as an FTP server. A high number of clients from multiple locations contact the FTP server. GuardDuty identifies this activity as a brute force
attack because of the high number of connections that happen every hour.

The company has flagged the finding as a false positive, but GuardDuty continues to raise the issue. A security engineer must improve the signal-to-noise ratio
without compromising the companys visibility of potential anomalous behavior.

Which solution will meet these requirements?

A. Disable the FTP rule in GuardDuty in the Region where the FTP server is deployed.
B. Add the FTP server to a trusted IP lis
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C. Deploy the list to GuardDuty to stop receiving the notifications.
D. Create a suppression rule in GuardDuty to filter findings by automatically archiving new findings that match the specified criteria.
E. Create an AWS Lambda function that has the appropriate permissions to de-lete the finding whenever a new occurrence is reported.

Answer: C

Explanation:

"When you create an Amazon GuardDuty filter, you choose specific filter criteria, name the filter and can enable the auto-archiving of findings that the filter
matches. This allows you to further tune GuardDuty to your unique environment, without degrading the ability to identify threats. With auto-archive set, all findings
are still generated by GuardDuty, so you have a complete and immutable history of all suspicious activity."

NEW QUESTION 166

A company uses Amazon AP| Gateway to present REST APIs to users. An API developer wants to analyze API access patterns without the need to parse the log
files.

Which combination of steps will meet these requirements with the LEAST effort? (Select TWO.)

. Configure access logging for the required API stage.
. Configure an AWS CloudTrail trail destination for APl Gateway event
. Configure filters on the userldentity, userAgent, and sourcelPAddress fields.
. Configure an Amazon S3 destination for API Gateway log
Run Amazon Athena queries to analyze API access information.
Use Amazon CloudWatch Logs Insights to analyze API access information.
. Select the Enable Detailed CloudWatch Metrics option on the required API stage.

OTMTMUOw>

Answer: CD

NEW QUESTION 171

A company is building a data processing application that uses AWS Lambda functions The application's Lambda functions need to communicate with an Amazon
RDS OB instance that is deployed within a VPC in the same AWS account

Which solution meets these requirements in the MOST secure way?

A. Configure the DB instance to allow public access Update the DB instance security group to allow access from the Lambda public address space for the AWS
Region

B. Deploy the Lambda functions inside the VPC Attach a network ACL to the Lambda subnet Provide outbound rule access to the VPC CIDR range only Update
the DB instance security group to allow traffic from 0 0 0 0/0

C. Deploy the Lambda functions inside the VPC Attach a security group to the Lambda functions Provide outbound rule access to the VPC CIDR range only
Update the DB instance security group to allow traffic from the Lambda security group

D. Peer the Lambda default VPC with the VPC that hosts the DB instance to allow direct network access without the need for security groups

Answer: C

Explanation:

The AWS documentation states that you can deploy the Lambda functions inside the VPC and attach a security group to the Lambda functions. You can then
provide outbound rule access to the VPC CIDR range only and update the DB instance security group to allow traffic from the Lambda security group. This method
is the most secure way to meet the requirements.

References: : AWS Lambda Developer Guide

NEW QUESTION 174

A company needs a forensic-logging solution for hundreds of applications running in Docker on Amazon EC2 The solution must perform real-time analytics on the
togs must support the replay of messages and must persist the logs.

Which 1AM services should be used to meet these requirements? (Select TWO)

A. Amazon Athena

B. Amazon Kinesis

C. Amazon SQS

D. Amazon Elasticsearch
E. Amazon EMR

Answer: BD

Explanation:

Amazon Kinesis and Amazon Elasticsearch are both suitable for forensic-logging solutions. Amazon Kinesis can collect, process, and analyze streaming data in
real time3. Amazon Elasticsearch can store, search, and analyze log data using the popular open-source tool Elasticsearch. The other options are not designed for
forensic-logging purposes. Amazon Athena is a query service that can analyze data in S3, Amazon SQS is a message queue service that can decouple and scale
microservices, and Amazon EMR is a big data platform that can run Apache Spark and Hadoop clusters.

NEW QUESTION 175

A company has an AWS account that includes an Amazon S3 bucket. The S3 bucket uses server-side encryption with AWS KMS keys (SSE-KMS) to encrypt all
the objects at rest by using a customer managed key. The S3 bucket does not have a bucket policy.

An IAM role in the same account has an IAM policy that allows s3 List* and s3 Get' permissions for the S3 bucket. When the IAM role attempts to access an object
in the S3 bucket the role receives an access denied message.

Why does the 1AM rote not have access to the objects that are in the S3 bucket?

A. The IAM rote does not have permission to use the KMS CreateKey operation.

B. The S3 bucket lacks a policy that allows access to the customer managed key that encrypts the objects.

C. The IAM rote does not have permission to use the customer managed key that encrypts the objects that are in the S3 bucket.
D. The ACL of the S3 objects does not allow read access for the objects when the objects ace encrypted at rest.

Answer: C
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Explanation:
When using server-side encryption with AWS KMS keys (SSE-KMS), the requester must have both Amazon S3 permissions and AWS KMS permissions to access
the objects. The Amazon S3 permissions are for the bucket and object operations, such as s3:ListBucket and s3:GetObject. The AWS KMS permissions are for
the key operations, such as kms:GenerateDataKey and kms:Decrypt. In this case, the IAM role has the necessary Amazon S3 permissions, but not the AWS KMS

permissions to use the customer managed key that encrypts the objects. Therefore, the 1AM role receives an access denied message when trying to access the
objects. Verified References:

> https://docs.aws.amazon.com/AmazonS3/latest/userguide/troubleshoot-403-errors.html
> https://repost.aws/knowledge-center/s3-access-denied-error-kms
> https://repost.aws/knowledge-center/cross-account-access-denied-error-s3

NEW QUESTION 179
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